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Q1. 10 kg of wheat priced at Rs. 8 mixed with 15 kg of wheat priced at Rs. 10. What is average 

price of whole mixture? 

8 रु. प्रति किलो िी दर पर 10 किलो गहेूं िो 10 रु. प्रति किलो िी दर पर 15 किलो गहेूं िे साथ तिलाया जािा ह.ै परेू तिश्रण 

िी औसि िीिि क्या ह?ै 

(a) Rs. 9.5 kg 9.5 रुपये प्रति किलो 

(b) Rs. 9.2 kg / 9.2 रुपये प्रति किलो 

(c) Rs. 7.5 kg / 7.5 रुपये प्रति किलो 

(d) Rs. 8.5 kg / 8.5 रुपये प्रति किलो 

 

Q2. 40 litres of a mixture of milk and water contains 10% of water, the water to be added, to make 

the water content 20% in the new mixture. Find how many litres water will be added? 

दधू और पानी िे 40 लीटर तिश्रण िें 10% पानी ह,ै नए तिश्रण िें पानी िो 20% बनान ेिे तलए पानी तिलाया जाना ह.ै ज्ञाि 

िीतजए कि कििन ेलीटर पानी तिलाया जाना चातहए? 

(a) 6 litres / 6 लीटर  

(b) 6.5 litres / 6.5 लीटर  

(c) 5.5 litres / 5.5 लीटर  

(d) 5 litres / 5 लीटर  

 

Q3. A sugar solution of 3 litre contain 60% sugar. One litre of water is added to this solution. Then 

the percentage of sugar in the new solution is: 

3 लीटर चीनी िे घोल िें 60% चीनी ह.ै इस घोल िें एि लीटर पानी तिलाया जािा ह.ै िो नए घोल िें चीनी िा प्रतिशि ह:ै 

(a) 30 

(b) 45 

(c) 50 

(d) 60 

 

Q4. In what ratio must a grocer mix tea at Rs. 60 per kg, and Rs. 

65 per kg, so that by selling the mixture at Rs. 68.20 per kg, he 

may gain 10%. 

एि दिुानदार िो 60 रुपय ेप्रति किलो, और 65 रुपय ेप्रति किलो िलू्य िी चीनी िो 

किस िलू्य िें तिलाना चातहए, िाकि प्राप्त तिश्रण िो 68.20 रुपय ेप्रति किलो िें 

बचेिर उस े10% लाभ प्राप्त हो? 

(a) 3 : 2 

(b) 3 : 4 

(c) 3 : 5 

(d) 4 : 5 
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Q5. A barrel contains a mixture of wine and water in the ratio 3 : 1. How much fraction of the 

mixture must be drawn off and substituted by water so that the ratio of wine and water in the 

resultant mixture in the barrel becomes 1 : 1? 

एि बरैल िें वाइन और पानी िे तिश्रण िा अनपुाि 3: 1 ह.ै तिश्रण िा कििना अूंश तनिाल िर और पानी स ेप्रतिस्थातपि 

िरना चातहए िाकि बरैल िें पररणािी तिश्रण िें वाइन और पानी िा अनपुाि 1: 1 हो जाए?  

(a) 1/4 

(b) 1/3 

(c) 2/3 

(d) 1 

 

Q6. 12500 students appeared in an exam. 50% of the boys and 70% of the girls cleared the 

examination. If the total percent of students qualifying is 60%, how many girls appeared in the 

exam? 

एि परीक्षा िें 12500 छात्र उपतस्थि हुए. 50% लड़िों और 70% लड़कियों न ेपरीक्षा उत्तीणण िरी. यकद सफल होन ेवाल े

छात्रों िी िुल सूंख्या 60% है, िो परीक्षा िें कििनी लड़कियाूं उपतस्थि थीं? 

(a) 6500 

(b) 6200 

(c) 5500 

(d) 6250 

 

Q7. There are 81 litres pure milk in a container. One-third of milk is replaced by water in the 

container. Again one-third of mixture is extracted and equal amount of water is added. What is the 

ratio of milk to water in the new mixture? 

एि िूं टेनर िें 81 लीटर शदु्ध दधू ह.ै िूं टेनर िें एि तिहाई दधू िो पानी स ेबदल कदया जािा ह.ै कफर स ेएि तिहाई तिश्रण 

तनिाला जािा ह ैऔर बराबर िात्रा िें पानी जोड़ा जािा ह.ै नए तिश्रण िें दधू स ेपानी िा अनपुाि क्या है? 

(a) 1 : 2 

(b) 1 : 1 

(c) 2 : 1 

(d) 4 : 5 

 

Q8. In 80 litres mixture of milk and water the ratio of amount of milk to that of amount of water is 

7 : 3. In order to make this ratio 2 : 1 how many litres of water should be added? 

दधू और पानी िे 80 लीटर तिश्रण िें पानी स ेदधू िी िात्रा िा अनपुाि 7: 3 ह.ै इस अनपुाि िो 2: 1 बनान ेिे तलए कििन े

लीटर पानी तिलाया जाना चातहए? 

(a) 5 

(b) 6 

(c) 8 

(d) 4 

http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/


3 www.bankersadda.com      |    www.sscadda.com       |      www.careerpower.in      |      www.adda247.com 

 

 

Q9. Vessels A and B contain mixture of milk and water in the 

ratio 4 : 5 and 5 : 1 respectively. In what ratio should quantities 

of mixture be taken from A and B to from a mixture in which 

milk to water is in the ratio 5 : 4? 

पात्र A और B िें दधू और पानी िा तिश्रण क्रिशः 4: 5 और 5: 1 िे अनपुाि िें ह.ै 

किस अनपुाि िें तिश्रण िो A और B स ेतलया जाना चातहए िाकि तिश्रण िें दधू स े

पानी िा अनपुाि 5 : 4 हो जाए? 

(a) 2 : 5 

(b) 4 : 3 

(c) 5 : 2  

(d) 2 : 3 

 

Q10. The milk and water in a mixture are in the ratio 7 : 5. When 15 litres of water are added to it. 

The ratio of milk and water in the new mixture becomes 7 : 8. The total quantity of water in the 

new mixture is 

एि तिश्रण िें दधू और पानी िा अनपुाि 7: 5 हैं. जब इसिें 15 लीटर पानी तिलाया जािा ह.ै िो नए तिश्रण िें दधू और पानी 

िा अनपुाि 7: 8 हो जािा ह.ै नए तिश्रण िें पानी िी िुल िात्रा क्या ह?ै 

(a) 35 litres / 35 लीटर  

(b) 40 litres / 40 लीटर  

(c) 60 litres / 60 लीटर  

(d) 96 litres / 96 लीटर  

 

Q11. 42 men take 25 days to dig a pond. If the pond would have to be dug in 14 days, then what is 

the number of men to be employed? 

िालाब खोदन ेिें 42 परुुषों िो 25 कदन िा सिय लगिा ह।ै यकद िालाब िो 14 कदनों िें खोदना हो, िो परुुषों िी कििनी 

सूंख्या िो िायणरि िरना होगा? 

(a) 67  

(b) 75  

(c) 81  

(d) 84 

 

Q12. If the diameter of a wire is decreased by 10%, by how much per cent (approximately) will the 

length be increased to keep the volume constant? 

यकद किसी िार िा व्यास 10% िि िर कदया जािा ह,ै िो आयिन िो तस्थर रखन ेिे तलए लूंबाई कििन ेप्रतिशि (लगभग) िि 

बढाई जाएगी? 

(a) 5%  

(b) 17% 

(c) 20%  

(d) 23% 
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Q13. From a series of 50 observations, an observation with value 45 is dropped but the mean 

remains the same. What was the mean of 50 observations? 

50 पयणवके्षण िी एि श्ररूंखला से, एि पयणवके्षण तजसिा िलू्य 45 ह ैतनिाल कदया जािा ह ैलकेिन इसिा िान सिान रहिा ह।ै 

50 पयणवके्षण िा िान क्या था? 

(a) 50  

(b) 49 

(c) 45  

(d) 40 

 

Q14. Mr Duggal invested 20,000 with rate of interest 20 % pcpa. The interest was compounded 

half yearly for the first one year and in the next year it was compounded yearly. What will be the 

total interest earned at the end of two years? 

श्री दगु्गल न े20% प्रति वषण ब्याज दर िे साथ 20,000 िा तनवशे किया। ब्याज िो पहल ेएि वषण िे तलए अधणवार्षणि रूप स े

और अगल ेवषण िें वार्षणि रूप स ेसूंयोतजि किया गया। दो वषण िे अूंि िें अर्जणि िुल ब्याज क्या होगा? 

(a) 8,800  

(b) 9,040 

(c) 8,040  

(d) 9,800 

 

Q15. If the area of a circle, inscribed in an equilateral triangle is 4π cm², then what is the area of 

the triangle? 

यकद एि सिबाहु तत्रभजु िें अूंकिि एि वरत्त िा क्षते्रफल 4π cm² है, िो तत्रभजु िा क्षते्रफल कििना है? 

(a)  

(b)  

(c)   

(d)  

 

Q16. A ladder of 17 ft length reaches a window which is 15 ft above the ground on one side of the 

street. Keeping its foot at the same point the ladder is turned to the other side of the street and 

now it reaches a window 8 ft high. What is the width of the 

street? 

17 फीट लूंबाई िी सीढी एि तखड़िी िि पहुूंचिी ह ैजो सड़ि िे एि िरफ जिीन 

स े15 फीट ऊपर ह।ै उसी बबूंद ुपर रखि ेहुए सीढी िो सड़ि िे दसूरी िरफ िोड़ 

कदया जािा ह ैऔर अब यह 8 फीट ऊूं ची तखड़िी िि पहुूंच पािी ह।ै गली िी चौड़ाई 

कििनी है? 

(a) 23 ft  

(b) 15 ft 

(c) 25 ft  

(d) 30 ft 
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Q17. A takes 6 days less than B to do a certain job and 2 days more than C. A and B together can do 
the work in the same time as C. In how many days B alone can do the complete work? 

एि तनतिि िायण िो परूा िरन ेिें A िो B स े6 कदन िि और C स े2 कदन अतधि लगि ेह.ै A और B तिल िर िायण िो परूा 

िरन ेिें C िे सिान सिय लिे ेहैं. B अिेल ेिायण िो कििन ेसिय िें परूा िर सििा ह?ै 

(a) 10 
(b) 14 
(c) 12 
(d) 16 
 
Q18. Sarita started a boutique investing an amount of 50,000. Six months later Neeta joined her 
with an amount of 80,000. At the end of one year they earned a profit of 18, 000. What is Sarita’s 
share in the profit? 

सररिा न े50,000 िी रातश तनवशे िर िे एि बटुीि शरुू किया। छह िहीन ेबाद नीिा 80,000 िी रातश िे साथ उसिे साथ 

जडु़ जािी ह।ै एि वषण िे अूंि िें उन्होंन े18, 000 िा लाभ अर्जणि किया। लाभ िें सररिा िा तहस्सा क्या ह?ै 

(a) 9000  
(b) 8000 
(c) 12000  
(d) 10000 
 
Q19. A man can do a piece of work in 10 days but with the assistance of his son, the work is done 
in 8 days. In how many days, his son alone can do the same piece of work? 

एि व्यति किसी िायण िो 10 कदनों िें िर सििा ह ैलकेिन अपन ेबटेे िी िदद स ेवह इस े8 कदनों िें िर लिेा ह.ै उसिा बटेा 

अिेल ेइस िायण िो कििन ेकदनों िें िरेगा? 

(a) 15 days /कदन 

(b) 22 days/ कदन 

(c) 30 days / कदन 

(d) 40 days/ कदन 

 
Q20. A man is walking at a speed of 10 km per hour. After every kilometer, he takes rest for 5 
minutes. How much time will he take to cover a distance of 5 kilometers? 

एि व्यति 10 कििी प्रति घूंटे िी गति स े चलिा ह.ै प्रत्यिे किलोिीटर िे बाद, वह 5 तिनट िे तलए आराि िरिा ह।ै 5 

किलोिीटर िी दरूी िय िरन ेिें उस ेकििना सिय लगगेा? 

(a) 48 min. /तिनट 

(b) 50 min./ तिनट 

(c) 45 min. / तिनट 

(d) 55 min./ तिनट 

 

Q21. A, B and C can do a work in 6, 8 and 12 days respectively. Doing that work together they get 
an amount of 1350. What is the share of B in that amount? 

A, B और C किसी िायण िो क्रिश: 6, 8 और 12 कदनों िें िर सिि ेहै। उस िाि िो एि साथ िरन ेपर उन्हें 1350 िी रातश 

तिलिी ह।ै उस रातश िें B िा कििना तहस्सा है? 

(a) 450 
(b) 168.75 
(c) 337.50  
(d) 718.75 
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Q22. An aeroplane flies along the four sides of a square at the 
speeds of 200, 400, 600 and 800 km/h. Find the average speed 
of the plane around the field. 

एि हवाई जहाज एि वगण िे चारों ओर 200, 400, 600 और 800 कििी / घूंटा 

िी गति स ेउड़िा ह।ै िदैान िे चारों ओर स ेतविान िी औसि गति ज्ञाि िीतजए। 

(a) 384 km/h  
(b) 370 km/h 
(c) 368 km/h  

(d) None of these/ इनिें से िोई नहीं 

 
Q23. A square carpet with an area 169 m² must have 2 meters 
cut-off one of its edges in order to be a perfect fit for a 
rectangular room. What is the area of rectangular room? 

एि आयिािार ििरे िें तबलिुल सटीि कफट होन ेिे तलए एि 169 वगण िीटर क्षते्रफल वाल ेवगाणिार िालीन किनारों स े2 

िीटर िटा हुआ ह.ै आयिािार ििरे िा क्षते्रफल कििना है? 

(a) 180 m² 
(b) 164 m² 
(c) 152 m²  
(d) 143 m² 
 
Q24. A man purchases two watches at 560. He sells one at 15% profit and other at 10% loss. Then 
he neither gains nor loss. Find the cost price of each watch. 

एि व्यति 560 रूपए िें दो घतड़यााँ खरीदिा ह.ै वह एि िो 15% लाभ और दसूरी िो 10% हातन पर बचेिा ह.ै कफर उस ेन 

िो लाभ होिा ह ैऔर न ही हातन. प्रत्यिे घड़ी िा क्रय िलू्य ज्ञाि िरें 

(a) 224, 300  
(b) 200, 300 
(c) 224, 336  
(d) 200, 336 
 
Q25. If 6 men and 8 boys can do a piece of work in 10 days while 26 men and 48 boys can do the 
same in 2 days, the time taken by 15 men and 20 boys in doing the same type of work will be: 

यकद 6 आदिी और 8 लड़िे एि िायण िो 10 कदनों िें िर सिि ेहैं जबकि 26 आदिी और 48 लड़िे सिान िायण िो 2 कदन िें 

िर सिि ेहैं, सिान प्रिार िा िायण िरन ेिें 15 आदिी और 20 लड़िों िो कििना सिय लगेगा? 

(a) 4 days  
(b) 5 days 
(c) 6 days  
(d) 7 days 
 
Q26. A train running between two stations A and B arrives at its destination 10 minutes late when 
its speed is 50 km/h and 50 minutes late when its speed is 30km/h. What is the distance between 
the stations A and B ? 

दो स्टेशनों A और B िे बीच चलन ेवाली टे्रन अपन ेगूंिव्य पर 10 तिनट दरेी स ेपहुाँचिी ह ैजब उसिी गति 50 कििी / घूंटा 

होिी ह ैऔर 50 तिनट दरे स ेआिी ह ैजब उसिी गति 30 कििी / घूंटा होिी ह।ै A और B स्टेशनों िे बीच िी दरूी क्या है? 

(a) 40 km  
(b) 50 km 
(c) 60 km  
(d) 70 km 
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Q27. The value of tan 4°.tan 43°.tan 47°.tan 86° is 

tan 4°.tan 43°.tan 47°.tan 86° िा िान ज्ञाि िरें 

(a) 2  

(b) 3 

(c) 1  

(d) 4 

 

Q28. A sum of money is divided among A, B, C and D in the ratio 3 : 5 : 8 : 9 respectively. If the 

share of D is 1,872 more than the share of A, then what is the total amount of money of B & C 

together? 

िुछ धनरातश िो क्रिशः 3: 5: 8: 9 िे अनपुाि िें A, B, C और D िे बीच बाूंटा गया ह।ै यकद D िा शयेर A िे शयेर स े1,872 

अतधि है, िो B और C िी तिलािर िुल रातश कििनी ह?ै 

(a) 4,156  

(b) 4,165 

(c) 4,056  

(d) 4,068 

 

Q29. What approximate compound interest can be obtained on an amount of 3,980 after 2 years at 

8 p.c.p.a. ? 

8 प्रतिशि प्रति वषण पर 2 वषण िे बाद 3,980 िी रातश पर क्या अनिुातनि चक्रवरतद्ध ब्याज प्राप्त किया जा सििा है? 

(a) 650  

(b) 680 

(c) 600  

(d) 662 

 

Q30. A man walks at the speed of 5 km/hr and runs at the speed of 10 km/hr. How much time will 

the man require to cover the distance of 28 km, if he covers half of his journey walking and half of 

his journey running ? 

एि आदिी 5 कििी/घूंटा िी गति स ेचलिा ह ैऔर 10 कििी/घूंटा िी गति स ेदौड़िा ह।ै 28 कििी िी दरूी िय िरन ेिे तलए 

आदिी िो कििन ेसिय िी आवश्यििा होगी, यकद वह अपनी यात्रा िा आधा तहस्सा पैदल और शषे आधा तहस्सा दौड़ िर िवर 

िरिा है? 

(a) 8.4 hrs  

(b) 6 hrs 

(c) 5 hrs 

(d) 4.2 hrs  
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